CLASS : 12th (Sr. Secondary) Code No. 5630
Series : SS-April/2021
Roll No. SET : A

S ICRCEIG]

BIOLOGY
HAT -1
PART -1
(sTrts Tee)
(Subjective Questions)
ACADEMIC/OPEN
[ = T ool ey |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 70 (AFT-1 : 35, AFHII : 35)
Time allowed : 21 hours] [ Maximum Marks : 70 (Part-I : 35, Part-II : 35)

q-o & wF & Rl R A (STeiNS) ©E AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% X B AU IA-gRAH { RIE@ B qF-0F B AR A BN W ed SaX-gRas
3 a Rar stom @ AE-IL % [0 oRed @ O qe H Wy Rar S sriq wder s
B ¥ O geT [ TOERi B -1 5 9eE-Ue R s

-1 & 99T-0 § 9 12 U @ IR & 999-09 & o 35 07 8

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P I F T B AL % 5 99797 § GRa g2 4 aor §o7 12 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 12 questions.

5630/(Set : A/ | P.T.O.




(2) 5630/(Set : A)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgr T To FIT-UA T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.

5630/(Set : A)/ |



(3) 5630/(Set : A)
gug -
SECTION- A

(erfr-TrgmreTs 999)
(Very Short Answer Type Questions)

1. Sar & ffhed 99O o & of 39 4t ST fohan ofiem & ° 2

What is MTP and why it is used ?

2. IR (TYNES) 1 & ? 3HD @ & A 2

What is Aneuploidy ? Give two examples of it.

3. TEHEAT YR fhe Y6 & AMa & fou aeees § 7 2

How Trichoderma polysporum is useful for human beings ?

4, ARG Tae & YUYl &l R @ o B 2

Explain the method of isolation of Genetic material (DNA).

5. Silo THo WY fFH Y A¥EE® 8 & 7 2

How are GM plants useful ?
gug -
SECTION - B
(e 9)

(Short Answer Type Questions)

6. ITU¥SH Fl X P ARG H A BRI B IR B [T 3

Write about the factors which control rate of decomposition.

7. A @B AT AT & U GrAfher Aehey #@ SUgE S R ¢ 3

Why was Drosophila melanogaster found suitable to Morgan for his studies ?

8. WISl § & g e ? 3
What are the goals of HGP ?

5630/(Set : A/ | P.T.O.



(4) 5630/(Set : A)

9. IMfYsilEsd g0 & N H fafm 3
Write about Opioids drugs.

10. % dr Gl § UG b B AW 9 TP AR H O YOO I P THRX T I b
fafer s 3

Name and explain the nutritive tissue present in Angiosperms. Explain its
formation and types.

qis - 9
SECTION- C

(S S 999)
(Long Answer Type Questions)

11. A7 § (o= U9 eI @i Tishar B aUi i 5

Describe the process of fertilization and implantation in human beings.

HYqr
OR
SRTTST %l Ukl &l ol iy
Describe the process of Spermatogenesis.
12. St & &fd & Hror o) 5
Explain the reasons/causes of Biodiversity loss.
HYqr
OR

Safafaedr @& & & e ?

Why should we conserve biodiversity ?

5630/(Set : A)/ |



CLASS : 12th (Sr. Secondary) Code No. 5630
Series : SS-April/2021

Roll No. SET : A
g fasm

BIOLOGY
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o PV AT BT 5 I % FT FIT-0H § JRT §T 8 T F97 35 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 38§ questions.

o gheEreff o7y T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ (@ 98 FrRET #Y o [ geT9A §U 7 & 8, qhEr & I 59
T g A aar @hwre & REr ki

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aar &

All questions are compulsory.

(i) 3797 F7% 1 @ 35 7% TGS F97 81 JA% 97 1 37 H 81 [RAFEN 57 597 %
g g

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer these questions as per instructions.

5630/(Set : A)/ I P.T.O.



(2) 5630/(Set : A)
@ - =i sglamediq 797 % el [4weq giag

Instruction : Select the correct option of the following multiple choice questions :

1. TH GH{ GHOT YART & o799 Yequl bl ST SEIhE Hed 9l auria dadt ST+ a9s

% 9R ©9 fhoe M EH aanad g ? 1
A) 3 (B) 4
(€) 5 (D) 2

Based on observations on Monohybrid crosses Mendel proposed general rules
to consolidate his understanding of inheritance in monohybrid cross. How

many rules are called principle of inheritance or law of inheritance ?

(A) 3 (B) 4
(C) 5 (D) 2
2. THDHI, GUAGER TN THRGHR g H R JR & AT B § 7 1
(A)  FHITRATT (B)  dIJEETT
(C) ST (D) GEIaRETer

Which type of pollination occur in flowers having bright colours, fragrance and

nector ?
(A) Entomophily (B) Anemophily
(C) Hydrophily (D) Ornithophily
3. frafafed & § -8 0 Ares o 7 S 8 7 1
(A) LNG-20 (B) HAweMIE 375
(C) o (D) & B

5630/(Set : A)/ 1l



(3) 5630/(Set : A)

Which of the following is hormone releasing I[lUDs ?

(A) LNG-20 (B) Multiload 375
(C) Lippes loop (D) None of these
4. HF-AT F7-Hg AT B AT B ? 1
(A) TFSd FER U (B) Sig S&M
(©) T & (D) T & B T
Which is a part of in-situ conservation ?
(A) Wild life Safari Park (B) Zoological Park
(C) National Park (D) None of these
5. URER® FRAT REH SMed 8N gad & Wi Bl STa a9l S 8, [heel Saeel & 7 1
(A)  FRIGHIRT (B) Uit
(C) wewIfor (D) SIS TRt
The interaction between Barnacles growing on the back of Whale is an example
of :
(A) Mutualism (B) Parasitism
(C) Commensalism (D) Amensalism
6. HIF-H1 AfHN B X geE L § 7 1
(A) HHERINS (B) Toebet &1 TR
(C) ErHmifer (D) fhersel iR

5630/(Set : A)/ I P.T.O.



(4)
Which is autosomal dominant trait ?
(A) Myotonic dystrophy
(B) Sickle Cell Anaemia
(C) Haemophilia
(D) Phenyl Ketonuria

7. H-91 AT TEL © °

5630/(Set : A)

(A) UCA (B) UAG
(€) UcCG (D) UUG
Which is a stop codon ?
(A) UCA (B) UAG
(€) UcCG (D) UUG
8. T e 3 [T weww SiAl & e &g Sraita § &3 fEEEHT Hhig Fxan ? 1
(A) A (B) faR
© T (D) THo ERW

Name the scientist who carried out several dihybrid crosses in Drosophila to

study genes that were sex linked ?
(A) Morgan (B)
(C) Urey (D)

5630/(Set : A)/ 1l

Miller

H. Khorana



(5) 5630/(Set : A)

9. fy=fafad & @ N Aferic AARST &1 FRT & ? 1
(A) WeNEIH dEdEd (B) wHIEAT A
(C) woHIeH DHegd (D) 378 § Hig 7

Which of the following cause malignant malaria ?

(A) Plasmodium vivax (B) Plasmodium malariae
(C) Plasmodium falciparum (D) None of these
10. AR T B 1
(A) M (B) FEERZE
(C) ¥HiN (D) Elototo

Genetic material is :

(A) Protein (B) Carbohydrate
(C) Hormone (D) DNA

11. TedT Si9 SRAT 1 ¢« G YA He fbar = 7 1
(A) 1994 ¥ (B) 1993 #
(C) 1991 # (D) 1990 #

1st clinical Gene Therapy was given in :
(A) 1994 B) 1993

(C) 1991 (D) 1990

5630/(Set : A)/ I P.T.O.



(6)

R : [t go7t & a7 o a7 @ 9= [ T T A6

Instruction : Answer of the following questions may be given in one or two words or

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

sentences :

FICRATET 9 Fed © 7

What is Coleorhiza ?

EFB & T &9 ford
Write full form of EFB.

Eco RI &1 & ?
What is Eco RI ?

5630/(Set : A)

FEE F PR BT A Aoy B KT B-Q GEH BN B S E 7 1

Name the enzyme used to break the cell wall of fungus.

T ST 1 B © °
What are Lymphoid Organs ?

W H IR B
Define Health.

defiron Rl wed § 7

What is Endemism ?

FlReE g 1 8 § 7

What are Euryhaline organisms ?

HloglodRodMEo, TETS | fawhied AIET THMRIEE Mal &AM fRag|

Name the oral contraceptive pill for females developed at CDRI in Lucknow.

5630/(Set : A)/ 1l



22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

(7)
w0 fasid o denfse 3 feam or ?

Name the scientist who proposed Transformation experiment.

‘BT TS’ H asE T e

What is the scientific name of 'fruit fly' ?

afsha gferem & 2l ' ?

What is Active Immunity ?

g WER FRE ar fadde Saftads @ § 7
What are frame shift mutations ?
TR fhY Fed § 7

What is Splicing ?

TN B 98 Y9N W SART B [0 (g I & T3 A o § 7

Which yeast is used for commercial production of Ethanol ?

dlo 3o o FH TRHAM [T

Define BOD.

deaifes 1 Bt & 7

What is Antibiotic ?

PIT-8 TR Sig R HRE B A F T § A A6 8 7
Which baculoviruses are used as biological control agents ?
WS 1 8l § 7

What is Plasmid ?

5630/(Set : A)/ I

5630/(Set : A)

P.T.0O.



32.

33.

34.

35.

(8) 5630/(Set : A)

TEIIT B T & T 1
Give an example of Codominance.

N-Fgfe & fral dieiierRe Ean 2 § 7 1
How many polypeptide chains are present in Pro-insulin ?

TIH YRSl M9 & M R 1

Name first Transgenic cow.

SE IARET FO H M T R R-SieTY ikl H TAN FE T gge #
ERICERERI 1

Name the American Company who used the rDNA techniques to produce

Human Insulin.

5630/(Set : A)/ 1l



CLASS : 12th (Sr. Secondary) Code No. 5630
Series : SS-April/2021
Roll No. SET : B

S ICRCEIG]

BIOLOGY
HAT -1
PART -1
(sTrts Tee)
(Subjective Questions)
ACADEMIC/OPEN
[ = T ool ey |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 70 (AFT-1 : 35, AFHII : 35)
Time allowed : 21 hours] [ Maximum Marks : 70 (Part-I : 35, Part-II : 35)

q-o & wF & Rl R A (STeiNS) ©E AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% X B AU IA-gRAH { RIE@ B qF-0F B AR A BN W ed SaX-gRas
3 a Rar stom @ AE-IL % [0 oRed @ O qe H Wy Rar S sriq wder s
B ¥ O geT [ TOERi B -1 5 9eE-Ue R s

-1 & 99T-0 § 9 12 U @ IR & 999-09 & o 35 07 8

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P I F T B AL % 5 99797 § GRa g2 4 aor §o7 12 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 12 questions.

5630/(Set : B/ | P.T.O.




(2) 5630/(Set : B)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgr T To FIT-UA T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.

5630/(Set : B)/ |



(3) 5630/(Set : B)

qug - A
SECTION- A

(erfr-TrgmreTs 999)
(Very Short Answer Type Questions)

1. TEHEE IRy 9 R § 799 & [T deeEes © ¢ 2

How Trichoderma polysporum is useful for human beings ?

2. AR TEre & YRRl H i & aoe #1) 2

Explain the method of isolation of Genetic material (DNA).

3. Silo WHo U9 fhH YR wTwere® 8ld & ¢ 2
How are GM plants useful ?

4. AT 1 e YT F 2 ol 39wl & JENT 6 S @ 7 2
What is MTP and why it is used ?

5. AP (TYwNES) 1 & ? 3HD @ e A 2

What is Aneuploidy ? Give two examples of it.

gug - §
SECTION - B

(TS )
(Short Answer Type Questions)

6. TIHGDH TTFE ? 3
What are the goals of HGP ?

7. AUeiEed g6 & IR | fafm 3
Write about Opioids drugs.

8. HW d Nl § YUY Ik B AW d I AR A fo€l PO Ik B GHR g S B
fefey s/ 3

Name and explain the nutritive tissue present in Angiosperms. Explain its
formation and types.

5630/(Set : B/ | P.T.O.



(4) 5630/(Set : B)
9. IT¥CH Fl & Pl MART B AT BHI D I] H (&Y 3

Write about the factors which control rate of decomposition.

10. AR & 0 FFT & o0 grifhen AR # SUgaH 1B T 7 3

Why was Drosophila melanogaster found suitable to Morgan for his studies ?

g -9
SECTION- C

(S S 9)
(Long Answer Type Questions)

11. Safafaedr & &fd & HR od) 5

Explain the reasons/causes of Biodiversity loss.

AYqr
OR

Safafaedr @& & S e ?

Why should we conserve biodiversity ?
12. A7 § (o= T SARIUT &l Jihar H qU i 5
Describe the process of fertilization and implantation in human beings.

AYqr
OR

SJERTTSTI bl Ufshdl &l aoi SHiforg

Describe the process of Spermatogenesis.

5630/(Set : B)/ |



CLASS : 12th (Sr. Secondary) Code No. 5630
Series : SS-April/2021

Roll No. SET : B
g fasm

BIOLOGY
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o PV AT BT 5 I % FT FIT-0H § JRT §T 8 T F97 35 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 38§ questions.

o gheEreff o7y T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ (@ 98 FrRET #Y o [ geT9A §U 7 & 8, qhEr & I 59
T g A aar @hwre & REr ki

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aar &

All questions are compulsory.

(i) 3797 F7% 1 @ 35 7% TGS F97 81 JA% 97 1 37 H 81 [RAFEN 57 597 %
g g

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer these questions as per instructions.

5630/(Set : B)/ I P.T.O.



(2) 5630/(Set : B)
@ - =i sglamediq 797 % el [4weq giag

Instruction : Select the correct option of the following multiple choice questions :

1. OF F&@ gadell YoRRY IRYF &N W Bl B 1
(A) 7 eRiih 7 DA
(B) 8 gl 7 b
(C) 8 kil 8 DA
(D) 9 kil 8 DA

Typical Angiosperm embryo sac at maturity is :
(A) 7 nucleated 7 celled
(B) 8 nucleated 7 celled
(C) 8 nucleated 8 celled
(D) 9 nucleated 8 celled

2. 9RT TER 7 HF-4 a9 § Rfeeid G @ S B @B FeH B X 3

W B FHied e o o, s SqH geqE 7 & ? 1
(A) 1969 # (B) 1970 ¥
() 1971 # (D) 1972 H

In which year Govt. of India has legalized MTP with some strict conditions to
avoid its misuse ?

(A) 1969 (B) 1970
(©) 1971 (D) 1972
3. T q BH-A1 wmgsi & 7 1
(A) TT
(B) Tt
(C) tt
(D) & @ & T
5630/(Set : B)/ I



(3) 5630/(Set : B)

Which of the following is Heterozygous ?

(A) TT
(B) Tt
(C) tt

(D) None of these

4. NEH VT © 1
(A)  AUG (B) UAC
(C) UAA (D) UAG

Initiator codon is :
(A) AUG (B) UAC
(C) UAA (D) UAG
5. M JHM © 1
(A) T S A
(B) S S I
(C) S S AT
(D) & & P T
Common cold is :
(A) Viral disease
(B) Bacterial disease
(C) Protozoan disease

(D) None of these

5630/(Set : B)/ I P.T.O.



(4) 5630/(Set : B)

6. viaaifas el i Ted e e @i @ ? 1

(A) Hed

(B) To W™

(©) %o aF

(D) Too ®iR

Who first discovered Antibiotic ?

(A) Mendel

(B) A. Fleming

(C) E. Chain

(D) H. Florey
7. ‘W & F I A H-G1 TG F Ieoi /IAET F RO B & 7 1

() SffeEeT 4

(B) I SEATFES 14
(C) FEgRM |
(D) giferm I

The puffed up appearance of 'dough' is due to production of :

(A) O, gas
(B) CO, gas
(C) N, gas

(D) Helium gas

5630/(Set : B)/ Il



(5) 5630/(Set : B)

8. T 9 HI-G1 USTEH (SORE) SaT] &t HIER (T ® qre & FM 0 & ? 1
(A)  TTEETEH
(B) &g
(C) rEfessT
(D) ¥ q H& T
Which of the following enzyme is used to break bacterial cell wall ?
(A) Lysozyme
(B) Cellulase
(C) Chitinase
(D) None of these
9. S (Bt) Sfa-fay WA fF8 pH W @lkg & 8 ? 1
(A) o=iE pH T
(B) e (¥gd) pH W
(C) & T Fgal pH aFl W
(D) e 8KE pH W
Bt toxin protein is active at :
(A) Acidic pH
(B) Neutral pH
(C) Both Basic & Neutral pH
(D) Alkaline pH only

10. fogd +/+ 68 UeaRa frar &1 welia @ & ? 1
(A) TRHE
(B) @i
(C) HRIgHIT
(D) ST TXHer

5630/(Set : B)/ I P.T.O.



(6) 5630/(Set : B)
The sign +/+ shows interaction :
(A) Predation
(B) Competition
(C) Mutualism
(D) Amensalism
33T : S /=T ERT ReT &yl &1 g #¢1 o7 J97 % Fav 9% a7 & = 7 a7 e

Instructions : Fill in the blanks by appropriate words. Answer of other questions may
be given in one or two words or sentence.

11. =X Rigw & 3RAerg & ..ooee.. | 1
Karyotype in Turner syndrome is ..............
12. BT & O H Al T&T ..o Bl 1

The genotype for blood group O is .............. .

13. ELSI®H QU &Y foe] 1
Write down the full form of ELSI.

14, SARTAY GIRAERST .o A et AT Bl AT B 1
RNA polymerase binds to .............. site and initiates transcription.

15. IE% HCAAHED ST B eoveeee PR X fRer & R 1
Promotor is said to be located towards .............. end of the structural gene.

16. ‘SAU-UH g ‘FeAer’ § 1 AR B ? 1

Write down difference between 'DNAs' and 'DNase'.

17. qqemed e A/ g ? 1

Define test cross.

18. TEHCTIEMT B GAT TH 8 ovevnen | 1

Megasporanzium is also called ................ .

5630/(Set : B)/ Il



19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

(7) 5630/(Set : B)

"ART" & QU &9 frau 1
Write full form of "ART".
........... IR A J SfRE SR 2 1

TgH & WU 9% &9 & M § A0 S Al Aaled TEeT ... 2| 1
A widely used diagnostic test for AIDS is .............. .

‘cuud & MR ? 1
What is "MALT" ?

Mﬁﬁ’ﬁmaﬁa@@@mmﬁ@ﬁaﬁwmwwﬁmmw
TAH vevennnnn, % IR & HRT & 2

Large holes in "Swiss Cheese" are due to production of a large amount of

............... by a bacterium named Propionibacterium Shermanii.

T T & SN R e IR B H e 6 e 8 ? d@ R AR war e !

LAB is useful in production of household articles/products. How & when item

it produces ?

pirellcy BB o 1 | 1
What is the scientific name of Yeast ?

TTg(RICST 1 T FA © 7 1
Explain the role of Exonuclease.

‘Iirpicra T’ 1§ 7 1
What is 'Ori' ?

frash ispaar #Fn & ? 1
What is insertional inactivation ?

ST o P & ] 1
Expand GMO.

5630/(Set : B)/ I P.T.O.



30.

31.

32.

33.

34.

35.

(8) 5630/(Set :

JEERET FM R ?

What is biopiracy ?
1983 #, o AN &l 3 Sgfe aaman o ?

In 1983, which American company prepared insulin ?

qfaf~Spaar 1 2 7

What is Hibernation ?

S %l G
Define Natality

TRHE T B 7
What is Predation ?

1992 # 9 fafael T gedl FRTT oo g gam o

Earth Summit on Biodiversity was held in .............. in 1992.

5630/(Set : B)/ Il

B)

1



CLASS : 12th (Sr. Secondary) Code No. 5630
Series : SS-April/2021
Roll No. SET : C

S ICRCEIG]

BIOLOGY
HAT -1
PART -1
(sTrts Tee)
(Subjective Questions)
ACADEMIC/OPEN
[ = T ool ey |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 70 (AFT-1 : 35, AFHII : 35)
Time allowed : 21 hours] [ Maximum Marks : 70 (Part-I : 35, Part-II : 35)

q-o & wF & Rl R A (STeiNS) ©E AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% X B AU IA-gRAH { RIE@ B qF-0F B AR A BN W ed SaX-gRas
3 a Rar stom @ AE-IL % [0 oRed @ O qe H Wy Rar S sriq wder s
B ¥ O geT [ TOERi B -1 5 9eE-Ue R s

-1 & 99T-0 § 9 12 U @ IR & 999-09 & o 35 07 8

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P I F T B AL % 5 99797 § GRa g2 4 aor §o7 12 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 12 questions.

5630/(Set : C)/ | P.T.O.




(2) 5630/(Set : C)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgr T To FIT-UA T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.

5630/(Set : C)/ |



(3) 5630/(Set : C)
gue -
SECTION- A

(erfr-TrgmreTs 999)
(Very Short Answer Type Questions)

1. Sfio o qY fFE YHR THEES & & ° 2

How are GM plants useful ?

2. WAl F e gH9E 1 & o] HH . JANT fhar S B 7 2
What is MTP and why it is used ?

3. IR (TYNES) 1 & ? 3HE @ & A 2

What is Aneuploidy ? Give two examples of it.

4. TEHEH IR 59 YHR @ qM9 & o0 deeEs 2 7 2

How Trichoderma polysporum is useful for human beings ?

5. AR T @ YU & fai & avie &l 2

Explain the method of isolation of Genetic material (DNA).

gug - §
SECTION - B

(TS )
(Short Answer Type Questions)

6. BT A Wl F YUUIY Fch H TH g Igb AR H [ YOO Ik F THR T B
faer s 3
Name and explain the nutritive tissue present in Angiosperms. Explain its
formation and types.

7. HUES &I X HI FERE H a1 BRH B 9] H [ 3
Write about the factors which control rate of decomposition.
8. WNH I U FEET & U S ARl & IUgH I B ¢ 3

Why was Drosophila melanogaster found suitable to Morgan for his studies ?

5630/(Set : C)/ | P.T.O.



(4) 5630/(Set :

9. Tg W §I & weg 0 E ?
What are the goals of HGP ?

10. JAMUeAEEE §79@ & IR 7 fifeu)
Write about Opioids drugs.

g -9
SECTION- C

(S S 9)
(Long Answer Type Questions)

11. RIS &l SfRaT o Ui o)

Describe the process of Spermatogenesis.

AYqr
OR

sl § e O SAARiaeT & ufhEr @ g it
Describe the process of fertilization and implantation in human beings.

12. Sfafaedr 3o & S e ?

Why should we conserve biodiversity ?

Yqr
OR

Safaiaear @ &fd & BT g

Explain the reasons/causes of Biodiversity loss.

5630/(Set : C)/ |



CLASS : 12th (Sr. Secondary) Code No. 5630
Series : SS-April/2021

Roll No. SET : C
g fasm

BIOLOGY
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o PV AT BT 5 I % FT FIT-0H § JRT §T 8 T F97 35 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 38§ questions.

o gheEreff o7y T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ (@ 98 FrRET #Y o [ geT9A §U 7 & 8, qhEr & I 59
T g A aar @hwre & REr ki

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aar &

All questions are compulsory.

(i) 3797 F7% 1 @ 35 7% TGS F97 81 JA% 97 1 37 H 81 [RAFEN 57 597 %
g g

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer these questions as per instructions.

5630/(Set : C)/ Il P.T.O.



(2) 5630/(Set : C)
@ - =i sglamediq 797 % el [4weq giag
Instruction : Select the correct option of the following multiple choice questions :
1. S qURE 9Ed % ISR 1
() Aferemian, st
(B) SAtierd, arl
(C) om, o
(D) THRGIGE, JH
The examples of water pollinated plants are :
(A) Vallisneria, Hydrilla
(B) Oxalis, Viola
(C) Mango, Peepal
(D) Amorphophallus, Yucca

2. = ¥ § -91 TFRTE W H F@ S ? 1
(A) STHETHH (B) Tig™ I A
(C) dre (D) SHIOX-&

Which of the following is a contraceptive method which is not made-up of
rubber ?

(A) Diaphragms (B) Cervical caps
(C) Vaults (D) Copper-T
3. = & § d-|1 gugwel 8 ? 1
(A) Tt
(B) Yy
(C) TT
(D) & & @+l

5630/(Set : C)/ Il



(3) 5630/(Set : C)

Which of the following is homozygous ?

(A) Tt
(B) Yy
(C) TT

(D) All of these

4. A TR HI-A1 & ? 1
(A) UAA (B) UAG
(C) UGA (D) ¥ g

Terminator codon is :

(A) UAA (B) UAG

(C) UGA (D) All of these
5. AT © 1

(A) T S A

(B) S S I

(C) SHESIST Sva T

(D) & @ &S T

Pneumonia is :

(A) Viral disease

(B) Bacterial disease

(C) Protozoan disease

(D) None of these

5630/(Set : C)/ Il P.T.O.



(4) 5630/(Set :
6. 1945 yieifds &l @S & [T HH-8 I8 B Aad QR o ?
(A) AT
(B) =
(C) IR
(D) T |

Who got Nobel Prize for discovery of Antibiotic in 1945 ?

(A) Fleming
(B) Chain
(C) Florey

(D) All of these
7. FReqg 997 ¥ g 9 @ T2-52 B 5T 9 B IR & FROT e & 7
(A) St

(B) e SRS A9
(C) “EeeM I
(D) ¥ g

Large holes in 'Swiss Cheese' are due to production of a large amount of :

(A) O, gas
(B) CO, gas
(C) N, gas

(D) All of these

5630/(Set : C)/ Il



(5) 5630/(Set : C)

8. I @ HF-TN IO URY IR Bl HIEHN BT H TS & FH A & ? 1
(A)  TEESTEA
(B) e
(©) T
(D) ¥ q H& T
Which of the following enzyme is used to break plant cell wall ?
(A) Lysozyme
(B) Chitinase
(C) Cellulase
(D) None of these

9. TS 99 ¥ ST & w7 1

A) faefE A
(B) faei® = B
(C) fqer= C
(D) fdef = D
Golden Rice is rich in :
(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

10. FrEd +/- fha UReafta fram @ efid & @ ? 1
(A)  GEGHIRAT
(B) wf
(C) ARSI YISl
(D) 9THETT

5630/(Set : C)/ Il P.T.O.



(6) 5630/(Set : C)

The sign +/— shows interaction :
(A) Mutualism

(B) Competition

(C) Amensalism

(D) Predation

fdsr : Sfaa =] &R Ry @] &1 gid %01 o7 997] % 37 @@ 47 & 9= 7 qrrl 4 &l
Instructions : Fill in the blanks by appropriate words. Answer of other questions may
be given in one or two words or sentence.

12.

13.

14.

15.

16.

17.

18.

FAEThee [T § BHRACET B oovvennnnn | 1
Karyotype in Klinefelter syndrome is .............. .

SRR @ AB &7 Sl T .o 2 1
The genotype for blood group AB is .............. .

EST &l I &0 ford| 1

Write down the full form of EST.

.............. ¥ 0% TR JRdeRs (AR JFEN SRhEhe) Ta0H-R O T & 5'

PR ) S B 1
In ooooieiinn. an unusual nucleotide (methyl guanosine triphosphate) is added
to 5' end of hn-RNA.

HHIGS HEAGT TGD B v R W Reret & B 1
The terminator is located towards .............. end of the coding strand.

e &1 & 7 1
What is Euchromatin ?

Tehel HehY I GAFTI GRS 1
Define Monohybrid Cross.

"PMC" & T &7 fafay 1

Write full form of "PMC".

5630/(Set : C)/ Il



19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

(7) 5630/(Set : C)

e | TH IE F [GEIR BT 1
Expand ICSI.

TF ARl P qLSfaNT] & FEd © 1
Why HIV is called Retrovirus ?

el & AP R & AR A & e 9 | R s § gferferdt (1ga)
SFERAT Bl © o 1] & T B B 1
The yellowish fluid .............. secreted by mother during the initial days of

lactation has abudant antibodies (IgA) to protect the infant.

TEHEES T B R L THT | & el 2 1
Typhoid fever could be confirmed by .............. test
AEFRAARA-T BT FAT ST AFaAqT H .o FRE B w9 F B o B 1
Cyclosporin-A is used as an ............... agent

St Sawne? 1
What is BOD ?

FargfefeaT kT @ ... EESICE NI 1
Clostridium butylicum produces a acid called ............... .

USIfRTaST &1 1 HE © 7 1
What is the role of endonuclease ?

NI IRCIEdC I R e 1

Write down full form of PCR.

SITT &l gohd Ufedl LIRSl S & HIeh Fhd & R S & ghel 9 e &
o Bl AR B Fed ]

The separated bands of DNA are cut out from the agarose gel and extracted
from the gel piece. This step is known as ............... .

6 (Bt) Na-fT o g ..o Rt s B ’

Bt toxin is produced by a bacterium ............. .

5630/(Set : C)/ Il P.T.O.



(8) 5630/(Set : C)

30. ‘TE T o # T &0 ford 1
Write full form of 'ADA' gene.

31. fa RHEid W ‘TaRsT & H 8 ? 1
On which principle ELISA is based ?

32. Hw-Ffwaa w8 ? 1
What is Aestivation ?

33. TP HI IRAMNG H 1
Define Mortality.

34. UISifaar 1 & ? 1
What is Parasitism ?

35. a9 2002 H ............ § aa feed WX fasg R @ e gl 1
World Summit on Sustainable Development was held in .............. in 2002.

5630/(Set : C)/ Il



CLASS : 12th (Sr. Secondary) Code No. 5630
Series : SS-April/2021
Roll No. SET : D

S ICRCEIG]

BIOLOGY
HAT -1
PART -1
(sTrts Tee)
(Subjective Questions)
ACADEMIC/OPEN
[ = T ool ey |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 70 (AFT-1 : 35, AFHII : 35)
Time allowed : 21 hours] [ Maximum Marks : 70 (Part-I : 35, Part-II : 35)

q-o & wF & Rl R A (STeiNS) ©E AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% X B AU IA-gRAH { RIE@ B qF-0F B AR A BN W ed SaX-gRas
3 a Rar stom @ AE-IL % [0 oRed @ O qe H Wy Rar S sriq wder s
B ¥ O geT [ TOERi B -1 5 9eE-Ue R s

-1 & 99T-0 § 9 12 U @ IR & 999-09 & o 35 07 8

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P I F T B AL % 5 99797 § GRa g2 4 aor §o7 12 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 12 questions.

5630/(Set : D)/ | P.T.O.




(2) 5630/(Set : D)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgr T To FIT-UA T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.

5630/(Set : D)/ |



(3) 5630/(Set : D)
gug - JH
SECTION- A
(erfr-TrgmreTs 999)
(Very Short Answer Type Questions)

1. YRR (TgwiEel) 1 8 ? 6% & I S 2

What is Aneuploidy ? Give two examples of it.

2. TEHEA YR fhe Y6 & AMa & fou aeeees § 7 2

How Trichoderma polysporum is useful for human beings ?

3. STYHRTh Uy & YUHERIT I A H aO B 2

Explain the method of isolation of Genetic material (DNA).

4. flo o qY fFY YHR THES & & ? 2

How are GM plants useful ?

5. AT # fafhedm qHOe & ¥ oY 39t YA fohar S B 7 2
What is MTP and why it is used ?

gus - §
SECTION - B

(ST 99)

(Short Answer Type Questions)

6. AN & AU AT & [T FrAfhen Aehey 4l SUgH S B ¢ 3

Why was Drosophila melanogaster found suitable to Morgan for his studies ?

7. WA @RS ? 3
What are the goals of HGP ?

8. Mfueileed g0 & SN | fafm 3
Write about Opioids drugs.

5630/(Set : D)/ | P.T.O.



(4) 5630/(Set : D)
9. FW d Wl § YUY Sk B W T IEb AR F o€l YUY Ik B FHR g T B
fafer s 3

Name and explain the nutritive tissue present in Angiosperms. Explain its
formation and types.

10. 3I9HEd &l X H MIART B AT HRD ® I] H [CRI 3

Write about the factors which control rate of decomposition.

qis - 9
SECTION- C

(S S 999)
(Long Answer Type Questions)

11. Safafqedr & &g & s ad| 5

Explain the reasons/causes of Biodiversity loss.

AYqr
OR

Safafaedr @& & S e ?

Why should we conserve biodiversity ?

12. A7 § (o= T AR i TishaAT P U i 5

Describe the process of fertilization and implantation in human beings.

AYqr
OR

SJERTTSTI bl Ufshdl &l aoi SHiforg

Describe the process of Spermatogenesis.

5630/(Set : D)/ |



CLASS : 12th (Sr. Secondary) Code No. 5630
Series : SS-April/2021

Roll No. SET : D
g fasm

BIOLOGY
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o PV AT BT 5 I % FT FIT-0H § JRT §T 8 T F97 35 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 38§ questions.

o gheEreff o7y T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ (@ 98 FrRET #Y o [ geT9A §U 7 & 8, qhEr & I 59
T g A aar @hwre & REr ki

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aar &

All questions are compulsory.

(i) 3797 F7% 1 @ 35 7% TGS F97 81 JA% 97 1 37 H 81 [RAFEN 57 597 %
g g

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer these questions as per instructions.

5630/(Set : D)/ I P.T.O.



(2) 5630/(Set : D)
@ - =i sglamediq 797 % el [4weq giag

Instruction : Select the correct option of the following multiple choice questions :

1. &% (W) SUBT B FTM ..ooeene. SERICTINCI U SR B F 1
A) 1,2 B) 2,1
) 2,2 D) 1,1
The egg apparatus consists of ........... synergids & ........... egg cell.
A 1,2 B) 2,1
) 2,2 D) 1,1
2. T AT g B TFET 5 7 1
(A) HR-A
(B) FMR-7
(C) ¥ 375
(D) diee

Which is not an IUD ?
(A) Cu-T
(B) Cu-7
(C) Multiload 375
(D) Vaults
3. 3T § HN-91 qeX F Sl a9 e § 7 1
(A) T
(B) T
(C) oMEld o
(D) dIT %l &

5630/(Set : D)/ 1l



(3) 5630/(Set : D)
Which of the following is recessive trait in Pea ?
(A) Tall
(B) Violet flower
(C) Axial flower

(D) Yellow pod colour

4. FA AERE FT Foad 8 7 1
(A) 64 (B) 63
(C) 62 (D) 61

Total number of genetic code is :

(A) 64 (B) 63
(C) 62 (D) 61
5. WIRA B : 1
(A)  famrop S T
(B) SEISlAT S AT
(C) S ST
(D) ¥ & P T
Malaria is :

(A) Viral disease
(B) Protozoan disease
(C) Bacterial disease

(D) None of these

5630/(Set : D)/ I P.T.O.



(4) 5630/(Set : D)

6. THifcH ot =T & | P T B ? 1

(A)  TERRE

(B) FIfefsam

(C) THRAeFRR

(D) &bAHEE

Acetic acid is produced by :

(A) Aspergillus

(B) Clostridium

(C) Acetobacter

(D) Saccharomyces
7. FERE HA-HE-H N H e R 7 1
(A) CHy, Oy, N,
(B) CHy, Oy, Hy
(C) CHy4, CO,, Hy
(D) & & K Tl
Composition of Biogas is :
(A) CHy, Oy, N,
(B) CHy, Oy, Hj
(C) CHy4, CO,, Hy

(D) None of these

5630/(Set : D)/ 1l



(5) 5630/(Set : D)

8. T @ HIM-T1 SORE WAl B BN M B Ao H HE HIA & ¢ 1
()  PrEfesT
(B) &
(C) ==
(D) ¥ q H& T
Which of the following enzyme is used to break cell wall of fungal cell ?
(A) Chitinase
(B) Cellulase
(C) Lysozyme
(D) None of these
9. gaﬁ?w?{aﬂﬁim H TR AT RN E SN T § H-8 e #ie ® e § wes
! 1
(A)  AfEreH
(B) RIS
(C) Rex™
(D) SudE @+l
Bacillus thuringiensis produce proteins which kills :
(A) Lepidopterans
(B) Coelopterans
(C) Dipterans
(D) All of the above

10. 8T +/0 fhd TReaite Bran & TeRid &< & ? 1
(A) HERRTr
(B) URET
(C) @t
(D) R

5630/(Set : D)/ I P.T.O.



(6) 5630/(Set : D)

The sign +/0 shows interaction :
(A) Commensalism

(B) Predation

(C) Competition

(D) Mutualism

fdsr : Sfaa 9=l &R Ry @& &1 gid %01 o7 997] % 37 @@ 47 & =] 7 qrrl 4 &l
Instructions : Fill in the blanks by appropriate words. Answer of other questions may
be given in one or two words or sentence.

11.

12.

13.

14.

15.

16.

17.

18.

oo v § & O .. 2l 1
Total number of chromosomes in Down's syndrome is .............. .

SRR a7 A BT S TS . ] 1
The genotype for blood group Ais .............. .

UTR &I I &9 e 1

Write down the full form of UTR.

.............. ¥ TS @9E (200-300) @ed &Y H W & 3' R W g S 81 1

In ...l adenylate residue (200-300) are added at 3' end in a template
independent manner.

HFEIT BY G HRINT ©S TARA ... &) A9 § I8 S 1
Discontinuously synthesized fragments are joined by enzyme .............. .
ST 4 § 7 1
What is Heterochromatin ?

fEEehY e bl QR &Y 1
Define Dihybrid Cross.

ST ATl g @ © 7 1

What are clestogamous flowers ?

5630/(Set : D)/ 1l



19.

20.

21.

22.

23.

24.

25.

26.

27.

(7) 5630/(Set : D)
ferdl i diee o g <1 & T ford 1

Name any hormone releasing [UDs.

AN ged A H qT A Al SIS qesial e (e fifeeféE) e B

1
.............. is a protozoan parasite in the large intestine of human which causes
amoebiasis (amoebic dysentry).

ferarey Bl BB ... HE MET H 0T HAN & SN STEHHT PIRIBIA 3
AR FNTo] EFAOT | e 2 1
Virus infected cells secrete proteins called .............. which protect non-

infected cells from further viral infection.

“dl ™ e Wl g | 1
Expand "CMI".

.............. i 8 IO Wi &1 AMRe &R W N W dlaedd ®f F9 & &
fore foan e & 1
Statins produced by Yeast ............... have been commercialized as blood

cholesterol lowering agent.

EIo &1 T I & 1
Give an example of Methanogen.

fopdll TEsTiar T ERT TGS REBICT B3 arel SHare] & A Ja| 1
Name any symbiotic Nitrogen fixing bacteria.

T T BH v q ofe didde ¢oEdl & aR § SHE 8 S Stargel & 230 §
A TE () § 9o Y T E R @ goe R 9eeE o @ eaEd &1 1
Till today we know more than .............. restriction enzymes that have been

isolated from over 230 strains of bacteria each of which recognize different
recognition sequences.

I WA H AW @ St DNA # T #31 & e awaiar O 1 ugdl REE 39 § qers
Bl 1
Name the stain which is used to see coloured bands of DNA in isolation of
DNA.

5630/(Set : D)/ I P.T.O.



28

29.

30.

31.

32.

33.

34.

35.

(8) 5630/(Set :

qfferRel e Sk & 3 @Xr § ¢
R Te qAT IBHY &l TER|
PCR consists of 3 steps :
Denaturation, ............. & extension of primers.

St g T & g &
Write full form of GEAC.

QT S G Sig & [ fhE oot B e 6 S e ?

For testing of safety of Polio vaccine which transgenic animal is used ?

el Yedl fohd ST H 3gie bl S @ o ?

In which bacteria insulin was synthesized first ?

HF-A o ST § o & ?

Which species undergo diapause ?

VAT T 8 7

Define Immigration.

GEITHIT FT 8 7

What is Mutualism ?

ST Bl IR A

Define Endemism.

5630/(Set : D)/ 1l
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